12.1 Q and A






Name:_______________________________
	1-3.
	Name the 3 main types of services



	4.
	_______________ services provide service to business.



	5.
	When & where did services originate?



	6.
	What was the most important RELIGIOUS reason for the origin of settlements?

	7.
	What was the most important POLITICAL reason for the origin of settlements?

	8.
	What was the most important ECONOMIC reason for the origin of settlements?



	9.
	Most people in the that live in rural areas live in ____________  _________ settlements.



	10.
	Clustered rural settlements were most common in what region of colonial America?



	11.
	The __________________ was a common form of rural settlement in the southeastern part of colonial America.



	12.
	How do American rural settlement patterns differ from most other rural patterns in the world?



	13. 
	Why did the French use a linear settlement pattern called the “long-lot”?



	14.
	Did the Enclosure Movement in England during the 1700 & 1800s encourage clustered or dispersed rural settlement?



	15.
	What is the most significant benefit of dispersed rural settlement?



	
	


Match the terms on the right with the correct definition on the left (questions 1-8):

	1.
	Geometric pattern geographers use to represent market areas


	· 
	central place

	2.
	A market center


	· 
	range

	3.
	The minimum number of people needed to support a service


	· 
	primate city

	4.
	The largest settlement in a country that has more than twice as many people as the next largest settlement.


	· 
	threshold

	5.
	The maximum distance people are willing to travel for service


	· 
	hexagon

	6.
	The hierarchical organization of settlements by size


	· 
	median

	7.
	The area surrounding a service from which customers are attracted.


	· 
	rank-size rule

	8.
	In a linear community, the best location for a service.
	· 
	hinterland


Answer the following questions.
	9.
	A market area is a good example of a (formal/functional/uniform) region.



	10.
	According to the gravity model, the potential use of a service at a location is related directly to 
________________________ and inversely to ________________________.


	11.
	Larger settlements are (more/less) numerous and (closer/farther) apart from each other than smaller settlements.                                         



	12.
	A country follows the rank-size rule and its largest city has 1,000,000 people.  How many people live in the 4th largest city?



	13.
	An absence of the rank-size rule in the hierarchy of cities within LDCs can indicate there is not enough 
___________ to pay for a full variety of goods and ______________. 



	14.
	T or F     An example of a primate city in the United States is New York City.


